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No. of Questions : 150
VAl @i W : 150

Time : 2 Hours Full Marks : 450
AT : 2 g2 YU : 450

Note : (1) Attempt as many questions as You can, Each question carries 3

01.

02.

(Three| marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for cach unattempred
question.

ﬁﬁﬁmﬁmnﬂﬂﬂ%ﬁﬂﬂﬁﬁﬂﬂﬁﬂﬁlﬁiﬁma{iﬁq}
aﬁaﬂiumqﬁﬁraﬁrﬁiﬁ?qﬁaﬁi%mr
nﬁﬂﬁﬂﬁﬂﬁﬁwﬁwmﬂﬂrﬁmx

2] If more than one alternative answers seem to be approximate to
the correct answer, chooge the closest one.

Rﬁ{fﬁﬂfﬁﬂ?aﬁﬂﬁﬁmﬂﬁaﬂ?%ﬁﬁmﬁ,ﬁ;ﬁw
a/E Tt 2

Which one of the following accepts the knowledge to Abhsy, through
perception ?

(1) Mimamsi (2] Nyaya (3] Samkhya (4] Bauddha

Hﬂ%ﬁﬁﬁﬁfﬁ%ﬂﬂﬂﬁmmmﬂmﬁ;ﬁﬁm
YT & 7

(1) e (21 = (3) &g 4) e
As per Anistotle ‘matter and form’ is said to be -
(1) Separable (2] Not separable
19) Separable in thought (4} None of these
3
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03.

05.

FTEE & AT ‘Ee ot o we e @

(1) i (2) SrgerEA

(3) foard ¥ gagE (4) T 8§ wE e
Logically which one is correct for the Aristotle’s conception of matter
i form :

(1) Matter is prior to form (2) Form is prior to matter

(3) Both are Simultaneous (4) None of these

ﬂﬁﬁﬁmﬁﬁﬂwmﬁwmﬁmﬁ%
e ® ¢

(1) zed gdadl @ (2) SATEC gEeR ¥
(3) it gy 8 @ T A A Al
Samkhya theory of Causality is known as :

(1) Arambhavida (2) Satki 3

{31 Vivartavida (4) Vadriksavada

e e s 1 - £ o) O et s O O A
(1) ST (2) TS
(3) T (4) ugEBTETE

‘Eyerything can not be produced from everything' this statement
eniails which theory of causation :

(1) gatkaryavada (2) Asatkiryava e

3] Akaranavida [4] Satharorn-ada



06.

07.

08,

16P/236/4

T a6 W v awg W o o E 98 g s @
e Frsr =1 gftvoes s @

(1) HEpEaE (2) SAHEREans

(3) FTRITUERE (4) HERITIEE

Which one of the following accepts that objects are the copy of ideas ?
(1) Plato (2) Aristotle

(3} Bacon (4) Spinoza

Wﬁﬁ#w%w%ﬁa@mﬁﬁm
[

(1) wrer (2) ey

(3) = (4) ==

"“Substance is that which exists in itself " - this definition is given by
(1) Aristotle (2} Descartes

(3] Spinoza [4) Plato

"Hﬁg%ﬁm%ﬂﬁmﬁkumqﬁwﬁmﬁ?m
qEE Y

(1) Iy (2) e

(3) et (4) ey

Which onc is true for the God of Nyaya philosophy 7

(1] Material cause (2] Cofficient cause

(3] Samwvivee cause (4) None of them

FH U A W § gy & R owd 2 o2

(1) Farrs e 12V M ey

(3) AR Freer @ ¥ & 3¢ 35
5
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09, Nyaya theory of illusion is known as :

LO.

il.

(1) Atma khyiti (2] Anyatha khyati
[3)  Viparita khyat| (4) Asat khyati

=Y =9 1 99 s A e B o

(1) ™ =i (2) =y

13) T = (4} Ty =l
Anuvvavasivavida'is related to which one of the following ?
(1) Mimamsa (2] Samkhya

(3} Bauddha (4) Nyvaya
‘g adtafas § @ g et € 7

(L) HIETE (2) HE=A

(3) 9= (4) @

Valid means of cognition as per Samkhya philosophy 18

L} Two (2) Three (3) Four (4) Six
Al wefr & oTgETe g9 @ & el o HEw # o

(1} = (2) & (3) =T (4] ©%

. Who hus said ‘every determination 1s negation’ ?

1] Descartes (2) Aristotle
(31 Plato i4) Spinoza
oo e B s TaE o ey B 7

(1) et (2) TR
G (4] AR

EvN
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13. What Descartes has proved by his method of doubt -

14,

15.

16.

(1] God (2) Cogito

(3) External world (4] None of these

R A Sl w3 A 4w s Pear &7

(1) g7 (2) 37T

(3] HET TRy (4) FH & ®1F a8
Numbers of Dravyas as per Vaidesika Philosophy are :

(1) Eight {2) Six (3] Ninec (%) Four
999E =3 F STzt o dEn § o

(1) & (2) =B (3) (4) =TT

Which one is the first evolute as per the Sémkhya Theory of Evolusion ?

{1} Ahamkara [2) Mahat

(3) Tanmatra (4) Buddhi
aﬁmﬁh%ﬁrﬁmﬁ:ﬁﬁmﬁ%aﬁﬁﬁﬂﬂqmw%?
(1) oTmET (2] &g

(3) T 4 =

The idea of God as per Descartes comes under which o, of th
" L=

following ?
(1] Adventitious idea 2) Imaginary jgeq
(3] Innate ideg (4) None of B

P.T.0,
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TP § Er d9T o aed sdifatEd § 8 e os @ et

S & 7
i1) SRS Od (2) AT Sl
(3] TETEE 5 (4) ZAH | wmig T8

17. Which one is applicable to Aristotle's conception of form ?
(1} Foarm is material cauge
(<] Form s actuality
(3] Form is potentiality
4] Form 1s neither actuality nor poentaity

TR & O [ e T e o oy, e & 7
(1) ST 39EE AR R

(3) SN HEAEET 8
(4 -axﬁﬁﬁaﬁrqrﬁfﬁmﬁ?%aﬁ’fﬁﬁﬁ*ﬂﬁm%

18. Who holds that “Man is the measure of all things.” ?

(2] Georgias

(1} Protagoras
|3} Hippias (4] Anagjagoras
9
ﬁﬁmﬁﬂﬂ%ﬁﬁ“ﬂﬁlﬂﬁﬂaﬁwm% :
(1) GETE (2) ShRTEH
4] TETATCE



19.

10,

21.
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Which one 1s the highest form of knowledge, as per Plato ?

(1} Conjectural knowledge {2) Knowledge by sense organs
(3} Hypothetical knowledge (4) Rational insight

T § 3 o waiius el o 2, @9 & SER 7
(1) wftrafas s (2) sFew gmE 7=

(3) TR I (4) difem avadfee
Which one is not included by charvaka under Mahabhutas 7
(1} Earth (2) Space

(3) Fire (4) Water

A O was @ gergEt § whefi T@ B o o2
(1) gedt (2) i

(@) s (4) o

Who holds that valid means of knDWItdgE dre only perception and
inference ?

(1) Nyaya & Vaisesika (2] Vaiejika & Bauddh,
(3] Samkhya & Vaidcsika [4) Bauddha Simkhya

m%%umméﬁmﬂﬁmﬁmﬁaﬁ?'wﬂﬂﬁamﬁn
B E 7

(1) =g o $9fs (2) 9T ug dig
(3) wEA oF o [tp}ﬁﬁqafm@

P.T.0.



16P/236/4

22, The total number of Tattvas as per Simkhya are :

23.

24,

(1] Sixteen (2} Twenty four
[3) Twenty five (4) Two

ey mdiF & ATE g el B ¥
(1) #ioe (2] =t (3] 9 (4) &t

Which sne of the following Vaiscsika category is met consist of

Samanya 7
|1} Dravya (2) Guna
14 harma [4) Visesa

uﬁﬁ?ﬁm%ﬁwwiﬁﬁqqﬁﬁwﬁrgﬁﬁﬂ'ﬂ%?

(1) == (2) T

(3 A (4 fersmg

Which one of the following is not accepted by Charvika 2

(1) Hedonism (2) Materialism

(1} Senss - parceptualism (4) ldealism

u|l||t‘F]@ﬁ”ﬁEm:|'@ﬂTﬂi?ﬁﬂﬁﬁiﬂ_&qﬁ%?
SERIE I GEZIE

() =g - oA (4) SIS

. correct for the Samkhya view of Purusa ?
(2} Non-active & enjoyer

Mone of the above

Which one
(11 Active & enjoyer
Non-active 8 Non-enjoyer (4}

10



26.

a7.

28,
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959 faugs die gfegr & fo @ ow @t & o7

(1) wEma ST e (2) Fafera i s

(3) Ffesg of s (4} S9gE 7 § =

Which one of the following is correctly matched 2

(1) Green & Gita (2] Hegel & Gita

(3} Benthem & Cita (4) Kant & Gita

e # & 99 o " gaf B 7

(1) Ay ug afen (2) & ue T

(3) g9 od e 4) e oF T

Which set of proposition is contrary ?

(1) E&] 2] E&O [B) E&A 4] A&l

afeferat = F= Tge i &2

(1) € oF g 2) §d s

3 SwEw (4) T a7 o

Which one is correct for a proposition ?

(1} Always true (2) Always false

3 i i

(3] Either true or false [4) Neither true ngp false

yios<T ® B @9 ogm ol &7

(1) wed ad (2) #F Sum

(3) A T A Ey M T &R g
11
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29. Which onc is not correct for 4 deductive argument ?

(1}  Formal {2} Valid

13} Invalid {4} Possible
s gf @ fom 29 | i o w78 2 7
(1) SAEmToR (2) Her

(3) @y 4) =

30, 'Essi Est Percipi’ leads toward which type of philosophy ?

(1] Realism (2] Objective Idealism
(3) Subjective Idealism {4) Critical Realism
TN gy B - Bed g @ g @ i i e ® 7
(1) &g (2] FEIFTS goEEE
[3) ST AEEaR (4) iR SIS
31, Who maintains that "substance is that a know but not what’ ?
(I) Descartes (2) Berkeley
13 Locke (4) Hume

vt T © B BW AT & i ae w0 & 39 €] AEa 48 Ad
e §

() (2) T
3 (4] &ZT
which one is not cluded in the four fold causes of Aristotle :
32. Whch _
(1) v ierial cAUSE (2) Efficient cause
e .
! gl couse (4] Sufficient cause

1)

12



33l

34,

35.

16P/236/4

W, D A Wit § fE o At T8 ey mar &
(1) J9EM FTw (2) Ffre @reor
(3) &R @ (4) AT FHILeT

How many propositions are there in Pararthinumin as per Buddhist

Logicians ?

(1] Ten (2] Three (3] Five {4) Four
e TNE B orgar qoutpT & B ogaT 8 ¥ 7

(1) =d 2) o= (3) 9= (4) =

Aristotle’s Dictum de omni etnulle’ applies to which figure ?

(1) First (2] Second (3) Third (4} Fourth
STEL W W fegew #) aing :
s T R ST 9T A e

(1) s (2 fadm @) g (4) T

Which one is not appropriate for charvikg ?
(1} Vyipti can not be estabilished

[2) Akash is not Mahabhuta

(3] There is no Péapa - punya

(4)  Sense - pleasure ig not valuable

13
P.T.0,
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36,

38,

aT e & o #e-m oE Al ot ¥ 7
(1) =ura # i e w8l 8

(2} = werya Tl 2

(3] um-gry ot R

(4) sFEa-ge gegar =é 2

Who maintains that illusion is ‘Smriti - Pramosa’ ?

L) Rumaril {2) Kanad
(3)  Eapil 4} Prabhakar
T Al & ogw eg - g B 7
(1) e (2) M=
(3) iU (4) UHERT

. ‘Jnatatavada' is advocated by whome ?
(1) Kapil {2} Gautam
13y Kumaril {4} Shankara
AT &7 afedTEs ReeA fEar & 7
(1) S (2) e

Who maintains that only inte
perception ?

(1} Kanada (2) Charvaka

tam
{3) Dinnaga (4) Gau

.]'-].1ﬁmﬁﬁm%mWﬁWmaﬂam%?

(2) =mats
(4) M

14

rmediate perception is pure



39.

30.

41.

42.

16P/236/4

Which school of Buddhism represents ‘critical realism” ?
(1) Vaibhasika (2) Sautrintika
(3) Madhyamik (4] Yogachara

ﬁmﬁhmﬂﬁaﬂmﬁ'ﬂrﬁmﬁmw‘mmﬁfﬁaw
g7

(1) @i (2) s
(3) HreafEs (4) =@rTER
Which school of Buddhism maintains * Bahyinumeyavida® ?
(1} Vaibhasika (2] Sautrantika
(3) Madhymik {(4) Yogachar
A w3 61 T TEE AR B e 7
(1) ity (2) drnfs
(3) wTegfheE [4) FErER
Dualism is applicable for which of the following 7
(1] Spinoza (2] Descartes
(3] Berkeley (4) Hume
ﬂmﬁﬁﬁmﬁﬁqm%ﬁﬁﬁﬁzﬁm%?
(1) == (2) ZeFre
(3) == (4) w
Which Philosophy can be expressed as Pantheism 7
(1) Descartes (2] Spinoza
[3) Leibnitze (4) Plato
15
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43,

45.

FaE o9 W TEsaEE o =9 A oI Fear o Weem B 7

(1) (2) wi=RET

(3] wHETT (4} =T

Whe helds that "Every Determination is Negation' ?
(1} Plato 12} Anstotle
(3] Spinoza (4) Locke

% e BT Cude e oF BEg &7
(1) =t (2} TEL

(3} ET (4) ®FR

Four-fold causes of Aristotle can be reduced to ;
{1} Material & Efficient cause (2} Efficient & Final cause
(3} Material & Formal cause (4) Formal & Efficient cause

S & 9T HAOT B SiE fRaT 1 Hean ®
(1) IgrErE el e Hro 9

(2) fafer o e @ A

(3) IR ud AHIE FHAOT T

&) ST OF PR @ o

Which one is not appropriate for the Platonic conception of Idea ?
(1) Eternality (2} Temporality

(3) Univesality (4) Transcendentality
mﬁmﬁ%ﬁaﬁmmimiﬁﬁﬁﬂﬁﬂﬁ%?
(1) e (2) eHifereRaT

(3) el 4) Frci e

16
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47,
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Who admits * Duty for duty Shake® ?

(1) Hegel (2) Kant

(3) Mill (4] Benthem
B W B 2w & R asa 7

(1) = (2) e

(3) P (4) FFam
Which one is not correctly matched ?

[1)  Mind is Tabularasa - Descartes
(2} Copito Ergo sum - Descartes
(3) MNatura Naturata - Spinoza
(4) Natura Naturance - Spinoza
F o agife T8 R -

(1) "§° 39 Tyeiy] - G

(2) =T g gw - Rmw

(3) g A -

(4) == PG - e

Which one is not correctly matched 7
(1} Unmoved mover - Aristotle
(2) Virtue ig Knowledge - Socrates
3] Windowless Monad _ Leibnitze

(4] Sckepticism - Hume

B OF YARTE T R 7

(1) @’FI'TS 97 - ey

(2) WG w R - gHTE

() TEER Rrfry -amafe

(4] wesanr - &
17
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49,

50.

a1,

52, Which philosophy accepts "Not Self

“Composit things are made for others” this statement of Simkhya
Philosophy entails the existence of :

(1) Purusa (2) Prakriti

(3) Both (4] Neither Both

werE goelERy  wiE w6 9E FEe St S St
% :

(1) = () B

{3y =TT (4) @&t =8l

Which one is not correctly matched :

11} Samkhya - Traigunyavada (2] Yoga - Creator God

[3)  Mimamsi - Niyogavada (4) Vaisesika - Parminuvida
1 T P T B Y

(1) ®ieg - ATEE (2) avr - gt ST

3 i - FrmER (4) aaftEs - TETET
Which one is not related to Trkaya of Buddha ?

(1) Dharmakaya {2) Mahailkdya

(3] Nirminakiya (4) Sambhogakdya
e o T B EEE # A T8 27

(1) SpGAD (2) HEEHE

Theory' alongwith theory of karma
and rebirth ?
(1) Ajivaka

(3) Lokiyal

|2) Saugata
(4] Mimamsaka

18
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54,

55,
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FE-AT =901 FAEEAE & H-EE w6 09 g & R A
T e & 7

(1) eiEs (2) HrrE
(3) wERET (4) wHHIEE
Which Nyava Philosopher has given proals for the existence of God
for the first time ?
(1} Gautam (2) WVatsyhyan
(3) Udyotkar (4) Udayana
i = i e der & aftad & R sEe e e
® 7
(1) e (2) amETEE
(3} FEEERT (4) T=Eae
Which one 15 correctly matched 7
(I} Vaisesika - Adrista (2)  Mimimsa - Moksa
13) Bauddha - Anuvrata (4} Jain - Pancha shila
(1) a9~ sygse (2) weEr - Hig
3] IE - A [@) - gasfa
Whiﬁ{'l one is not associated with Madhyamika school of Buddhisy, »
(1] Aryadeva (2) Nagarjuna
(3] Bhavaviveka (41 Dharmottar
19
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56.

a7.

58.

% o At g & Anaivs w8 g e g

(1] emEa (2] AT
(3] wrEfeEE (4] T
Who is called Nyiya Bhasyakir ?

(1) Vatsydyan {2} Udyotkar
(3] Udayana {4} Gangesh

Re =arg wregere @er o § 7
(1) e (2) FEHT
() =94 (4] et

As per ‘Kathavatthu', how many sects of Buddhism were divided on
religimas ground ?

(1} B8ix (2] Twelve (3) Eighteen (4) Four
FerTER & ST s o aififes anare g ot Freerat # &ter T
o 7

(1] B= (2] @ANE (3} EE (4) =T

Devadatta does not eat in night, yet he is healthy' is an example of
which means of valid knowledge ¢

(1) Upamina (2} Arthapatti
3y Apuplabdh (4) Anumina

20
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59. Accepted kinds of Arthapatti are ;

(1} Three (2} Five (3] Six (4) Seven
HAMIE & g g ¥
(1) &= (2) (3) BE (4) =T

60. Who halds ‘Jaatats Linginumeya Vada' ?

(1) Prabhakar (2) Kumiril
(3) Shankar Mishra (4} Gaga Bhatta
S R ae @ e w7
(1) H9=ERT (3] ] |
(3] 9T fHy (4] T T

61. Theory of * Triputi-Pratyaksa’ is Propounded by whom 7
(1] Muriri Mishra (2] Kumari] Bhatta
|3} Prabhakar (4] Udayang
“ﬁgﬂ-nﬂﬁ*ﬁmﬁﬁmﬁ&eﬁnﬁmﬁﬂmg ?
(1) JUdr e () Fle 7w
(3] HHERT (1) Ty

62. Which one is not Correctly matched 2

(1) Vaisesika - Verbal testimony
2) Nyaya - Anuvyavasay,
(3] Mimamss Svarga - Nargle,
(4) Buddhism Apoha

21
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F UF gHie el e

1) g ~ g T
(2) =™ - AT
(3] Hmrer 5
[4) dra a9 - o9
63. Which one is not correctly matched ?
{1} Dinnagc - Apoha
(2) Kumaril - Anvitabhidhin
(3} Nyaya - Praman - Samplava
(4) Bauddha - Pramana - Vyavastha
B o it T 7
(1} Pmm - A (2) FEiE - At
(3] =M - oH-H%d (4] @ - HETT - SHEEE

64. Who holds Abhihitanvayavida 7
(1) Kuméril

B @)
65. Which number s correct for the Kant's Categories of understanding :
(1) Three (2] Twelve
(4] Eight

(3 Sixteen

22
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67.

68,
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e B g B AR B Rre f-d do w @

(1) #rm (2) =mE

(3) Hiee (4) ==
Who awoke Kant from dogmatic slumber ?

{1) Plato (2) Hegel
(3] Hume (4 Berkeley
mﬁﬁﬁﬂhﬁmqﬁmﬁm?
1) == (2) B

(3 &g (4]

Berkeley has refuted

(1) Only Abstract Idea

(2] Only General ldea

13) Abstract & General Idea Both
(4} None of thege

W@iﬁ@“ﬂ‘—rﬁﬁm%

(1) 339 o ey

(2) %A " gy

3) «ﬂgﬁﬂmqﬁmmﬁﬁr

(4} % & =i a8
Which one is correctly matched ?
(1} Kant - Nagarzijng (2] Berkeley - Fﬁﬁﬂhandh
(3] Hume - Gaytayy, (*l  Spinozg Kapj
23
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69.

70.

1. Thﬂﬂl’}' Dfpﬂ: ~ Eaka

9w g g & 7

(V) =i - AT (2) =B - AgIY
(3) wgH - e @) wEE -

As per Jain Philosophy, ' Time' 15
(17 Astukiva

(2]  Anstikiya

(3) Mithya

(4] Mone of these

3 = & IgER ‘wme §

(1) SHEE (2)  STETEHTE

(3) Fren (@) = A T T

Which school of Buddhism does not accept the real existence ol past
and futare ?

(1) Sarvastivida (2) Sautrintik

(3 Mahasanghik (4] All the three

S el B A A e i & At S
.
(1) wERETEE (2) BT
.stahilished harmony is propauned by :
(2) Aristotle

|4) Spinoza
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AT A P oftaiee fear o @ -
(1) =&t =M (2} FEy] BT
(3) @mEErE g (4) THAET EMAI

72, As per Spinoza man can know only :
(1) Twao attributes of substance
(2] Three attributes of substance
(3] Four attributes of sy bstance

(4] Infinite attributes of substance

WS & ST AT W A ¥ A
(1) == & & 7oy 2) == % fi7 o
3} == % A o (4) 2= % s Ty

73. God as first efficient Cause’ is admitted by -

(1} St Augustine Z) St Aquinas
(3) Spinoza (4] 5t. Anselms
'mﬁﬁam%mﬁéﬁ?'ﬂﬁwmg;
(1] &F T rEmms (2) W g
(3) EFm (4 T ey

74. ‘Summa Theologica’' was written hy -

1} St Augustin
1) gustine (@) St Thomgg Aqui

[4) st Francig

nas
3] St Anselms

25
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o REEAE % oEs d

(1) S ) e A
(3) Ha grHeEH () T SEITEE

75. Which one of the following hooks is written by Spinoza ?

(1) Meditations {2} Ethics

(3) Republic (4) LeMonade

siferEd § 8§ -4 e widon S o Rl @ # 7
(1) 2 (2) OferER
(3] Feafes (4) FEFTS

76. Which one is not related to the Philosophy of Descartes ?

(1) Dualism (2) Interactionism

(3 Exterior Gad [P Darallelism

ﬁaﬁﬁé%ﬂﬁﬁﬂﬁﬁuﬁqﬁ%?

77. Who refutes INNALE idcas ?

11y Flato (2) Aristotle
(3 SpnoZ (4] Locke

26
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80,

16P /2364

ST HogY T WYST B ey &7

(1) =t (2| STR]
(3) == (4] Wi
The term ‘Bubjective Spirit’ is related to :

(1] Bradeley (2) Hegel
(3] Green 4} Hobes
Teitred fafte g frad gatam & 7
(1) Z==t (2} &
(3) i (4) et
Which one is eorrectly matched ?

(1} Kant - Mind makes the nature

2} Hume - Copernicus revolusion

(3] Lock — Essi est percipj

[4) Descartes - Natura Naturata

T uF wE g g 7

(1) =i - OE gy w1 Prefer a2
(2} wEm - FIHEE mif

(3] wrF - HET gygeT &
(4) RS = AT Ay
Who has propounded “Antinonies of Reason’ for the first time %
1) Hegel (2) Lock -
(3) Plato %) Kant

27
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311

B3.

g4, Who accept

(3) e (4) @i
Nyaya Philosophy does not admit :
[1) Apauruseyata (2) Anuvyavasiya
(3} Anyathakhyin |4} Apavarga
T G e T8 wer §
(1) AqrEnEd (2) HjEEE
(3) argETEATd (4] ST
Which one is not included in Prasthan Trayee ?
(1} rita i2) Upanisad
(3) Brahmasutra (4) Purina
Fe7 e weeeEAl i wiwfEE w9 e 7
(1) e (2) FaFEE
{3) wEgH (4) U7
Who accepts Bhakti as filth Purusirtha ?
|1} Shankara (2) WVallabha
(3) Ram Krishna (4) Mandan Mishra
i & 9= garﬂai Fr7 wERaT & 7

: Hro A
e E; Hos+ A
(3] TR

« ‘Svagat Bheda' in Brahman ?

(1) Shankara (2) Ramanuja

(3 wmadhusudan {4y Mandan Mishra

28
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HeH H e AE e wEar ko

(1] 9T (2) THIAH
(3) AYHEET (4) "UST e

Who has provided seven-fold criticism against Maya theory ?

(1} Raminuja (2) Madhva

(3) Bhaskar {4} Shriharsha

HrA- e ® Few R \afiy sfedt @ s e B 7
(1) IETg= (4) #=

(3) WITERT (4 =ted

Which one is correctly matched ?

[1} Vaisheshika = Verbal testimony
{3) Bauddha - Verbal tootimony
(3) Chirvika - Verbal testimony
14} Mimiamsi = Verbal testimony
BT O W gt & 7

(1) i, - 9= g

(2) dx - W g

13} =Sl - 5 gHroy

(4) HEiEr - 9= gmrep

Which one is not a kind of supranatural perception 35 e s
Philosophy ? Yaya

(1] * Samanyalaksan (2} Ihinalalgan
[3) Minas (%) Yoggj

29
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BE&,

89,

T T S ST i O S e R T 8§ 7

(1) AR (2) ETEETETT

(3) wH (4) TR

Which one is not acceptable to Advaita vedinta 2

(1) WVivartavada (2) [Ishvara

|3) Praubhasika satti (4) Law of excluded Middle
P 0% Ed dard @ Wi T E 7

(1) e (2) 9at

(3) OrferIiEE e (4) HeEH giter FEE
What type of compulsion in moral imperative is accepted by Kant ?
(1} Internal (2) External

(3) Divine {4} Circumstantial
mﬁ;ﬂmﬂwﬁﬁmaﬂ%ﬁﬁﬂﬁmﬁmﬁﬁ?
(1) AT (2) HEd

(3] R (4) iR

tood will is good by itsell " who has said it ?

(1) Sidgwik (2) Mill

3) Hegel (4) Kant

?

Fﬁq#ﬁqmﬁmﬁgm%ﬂﬁmﬁm% .

(1) Tosias 2) Fr

@) 4) &

30
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ad,

16Pf236/4

Which one is not the pastulate of morality as per Kant ?
(L) Existence of God (2] Immertality of Soul
(3] Freedom of Will (4} Feeling of Benevolence
M & AIAT 9 o Hrwar o g
(1) 29T =1 sy (2) ST T AT
(3) E=B1 F wErEET (4] 9T # wET
What is the base of moral values as per Intutionism 2

(1) God (2) Benevolence

(3] Consience (4) Reason
HETSIAIT & STaR AR 9wt 7 amury g4y 3 7

(1) #ex @) i

(3] ST (4 s

Who has said that Philosophy is not theory but therapy ?
1) Ayer [2) Carnap

(3) Russel (4]  Wittgenstein
ﬁﬁﬂ#ﬂm%hﬁﬁhﬁ?@aﬂﬁw%?

(1] @3¢ (2) =y

(3) o (4) By

Pieture theory of language is propopunded by
(1} Wittgenstejn i2) Ruasel
(3]  Ayer (4] Price

8 T @) T amy

31
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95, Who has proved that existence of anything is not its perception :

96.

a7.

gg, Accordingt

(1) Russel (2)
(3} Hume (4]

fre @e Fo R E B PR aeg 9 dem gEe gwEen TE @

Moore

Husser)

L

(1) & (2) T
|3} &H |4}
Scientific knowledge, according to Kant, is
i1} Analytic (2)

(3) Synthetic (4)

Fiw & ATH TATE I %
(1) Eesmemes (2)
{3) EETeTh ()

According to Kant time and spacc are .

(1) Quality of matter (2
3] A prion {orms of intution (4]
iz & FEre dare €

() ag®I" 2
(3] FA® s S (4]

(1) Sen sation

(3] Imagination

32

Apriori

Synthetic apriorn

AT
HECIRAS HPTTAiE

Matter themselves

Relation between things

wd T oA
Fegail ® da wEH

o Hume impressions arc obtajned through :
{2) Reflection
(4] All the three



99,

16P/236/4

BEH & STIAET HER Ot w0 $ oqrem E o
(1) e (2) ofErd e
(3} TEAT (4) =T =t

Who has accepted that there is no difference between Creator God
and Created World ?

(1) Hegel (2) Spinoza

(3] Plato (4) Kant

g g5ay ud T2 g # 9 R S 8 e S 7
(1] & (20 wfietar

(3) e (4) =z

100. Pineal gland’ is related to whame 7

(1) Aristotle (2] Spinoza
2] Descaries (4] Locke
G AE e fgd B 7
(1) e (2] Hfi=
(3] ZFe (4) R
101. Essential features of Dharma, as per Manu, are -
(1] Eleven (2] Twelyve
[3) Ten (4] Eight
H3 % AN 9 & e ae B
(1) ™rE (2} am=
(3) & Sl
33
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102. Dharma is that which leads to Abhyudaya & Nihshreyash’, this
definmition is given by ?

(1] Gautama {2} Kanada

(3] Manu {4) Chanakya
‘ﬂﬁﬂ%?ﬁﬂﬂﬁﬂﬁﬁﬁmﬂmm%’,ﬂﬁmw
& 2?2

(1) e (2) ®ONE A

(3) wgH (@) =EE A

103. Which one is not related to Gita 7

1) Purshotama (2} Sthitiprajoa
|3) Akshara (4] Mahakaruna
£rq v A § O e T

(1) goHe™ (2) Feaferst
(3 e 4) HEEeT

104, Which one 18 swnirvachaniva’ as per Advaita vedant 7

(1) Brahma (2] World
) Individual Self (4) God
aﬁﬂ&mﬂfﬁa@néﬁﬁmﬁﬁﬁﬁw%?
A (2) O
(3) ST (4) $ET

Moksha can be obtaind by -
(2} Bhakti
|4) Prapaiti

105.As per Shankal
(1] Karma

E"ﬁ Jnans
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(1) =9 § 2) wfEE &
(3) == @ ) s 8
106.For which Hegel has said “God is like lion’s den™ ?
{1} Spinoza (2) Descartes
(3] Agquinas (4] Berkeley
HE fore B F ey - 3T 9T A T o e B 2
(1) = (2) Zered
(3] oY (4) =ha
107. Bodhisatva’ is related to
(L) Hinayina (2} Mahaysna
(3] Both [4)  Sarvistivida
‘N grafag &
(1) EFae (2] WerrT s
(3) &=t (4) waEifemam
108.'Religion of Man' is written by |
(1} Tagore [2) Vivekanand
(3] Radhakrishnan (4) Gandh;j
Freftor aifs 97 3 S ¥
(1) e 2) Fdwr=
(3] ey (4)  ifedy
109. Which one is not correctly matched 2
(1) Radhakrishpgy _ Life Divine
(2] Aurbindo ~ Ideal of Humap Unity
{3) Dayanand = Batvarth Prakash
(4) Tagere - Gitanjal
35
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HIA-T U gHied TE B 7

(1) TrFEgT - oy fEars
(2) e - am=fraw o g gl
{3) =A== - HerE S
[4) TR ~ TR
110, ‘Hind Swaraj’ was written by !
(1) M. K. Gandhi (2) M. N. Roy
(3) M.M. Malviya (4) M. Pannikar
Torg wmoot’ foel el
() L &, T B (2) @, oF. 19 &l
|3} UH. OH. HIEEE B (4) ©q. 9fvvERT &
111, ‘Essential Unity of All Religions' was written by
(1] Vivekananda (2) Radha Krishnan
{3y Bhagwandas (4) Devara)
ﬂmqﬂqﬁﬁﬁm’sﬁmﬁ:
(1) e [2) TEIEHFTH
' CE R
13) T 4]

of Universal Religion’ is propounded by :

12, The e % bayanend o

e wami Vivekanand

(1] - agwm]daﬂ (4] Radhakrishnan

ey 1

| | E :

iy wet = EET yfergiiee e T

o e E ) TR A ET
= (4) TGS, BT
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113.The term Humanism’ is not applicable to which of the following 7

(1) M. N. Roy (2] K. N. Tagore

(3] N. K.Devaraj 4] K. C. Bhattacharya

TR § & frad R AR U g B ae drg gt g v

(1) 9. w3, g (2) . @ . Hix

(3] wA. &, g (4) +. & "=
114. Who admits equal respect to all religions 7

[1) Mahatma Gandhi (2)  Swami Vevekanand

{3) Ravindranath Tagore (4]  She Ausbinde

CEREI i CIEAR I Do

(1) ®erAT wie (2) M P

(3] TrEay (4) s

115.‘Inter - religious dialogue’ is more advocated by whome 2

(1} Vivekanand ' (2 Rammohan Roy
(3] Mahatma Gandhi (4] Eadhakriﬁhnan
F- T dae Emarf“m;ymhﬁm%%m%?
(1] Rdwm= (2) e 1w
(3)  wmIET oy (4] TR

116. The word s like a dream This view is advocated By .
(1) Yogachar (2)  Vaibhagiles,
(3] Advaita Vedan,; (4) None of theg,

37
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ST A & | §E e @ weee o o

(1) FEmaT zmm (2} Frenfaes =@

(3] B = B (4) 7 q g
117. Principle of Cosmic Error’ is related to :

(1] Ramkrishna {2} Vivekanand

|3) Tapopre i4] Radhakrishnan

Tas aie @ fera @Eed @
(1) ¥HEFE 2) FeRwr=
4] en (4) TTETEET]

118. Who admits that Good is indefinable ?

1] Winere [2) Mill

(3) Bentham |4] Spencer
e wraen ¥ R aa et & 7

(1] ra T

(3 derg (4) W

who made this statement ?

(2} Ayer

119.'Man 15 condemned to be free'-

(1} Jams

o Borire (] Husserl
)
rﬁmmﬁﬁ%maﬁaﬁ%’—aﬁzﬁmﬁmﬂ%?
a2 @)

IHJ "{TE:'-? {4) EFﬁﬁi
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120.How many levels of theoratic consciousncss as per K.C
Bhattacharya ?

(1) Three (2) Four (3] Five (4) Six
. W wgeEd & orga dmiten 9 & Ree s Y 7
(1) & (2) =W} (3) dr= (4) BB

121. Which one is not related to the origin of religion ?

(1} Animism (2] Spritism
(3) Manism (4] Magicism
FA-HT T o B I & ety ag
(1) o (2) woEE
(3) A (4)  SEE

122.Eye for eye and tooth for tooth' is accepted by whjch theory
punishment ?

W

(1) Preventive (2] Retributive

(3] Reformative (4)  Administrative

'ﬁﬁﬁ%ﬁ W G air T & e av FIT-TT 575 Fpagpe Hi)
AT © 7 :

(1) Tradmae (2) Ay
3) Hermand (4) TomHfyE
123.Which one is not related to Buddhism 7
{1} Three Teachinps (4} Three Kayq
(3] Three Pitaka (4)  Three Ring
39
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HE - AT OF I 99 A gabam i B 7

(1) &= fEend (2] &\ =4
(3) € e (4) & =T

124.Intrinsic validity of knowledge i1s accepted by :
(1) Kumaril (2) Kanida
(3] Dharmkirti (4) Udayan

S A e APTvE Wi B T §

(1) HATE 2T (2) @womE E
1) s & (4) TEIE &

125.Existence Precedes Essence’ — this statement is related to :

(1} Logical possitivism (2] Existentialism
(3] Phenomenology {4} Sckepticism
e AT B QAN B - 4B U T
(1) oids HdiE 8 (2) SAfETEEE |
(ST # (4) dyaE 8

126. ‘Naturalistic fallacy’ is related to:

i1 Wloure (2} Bentham

(3) Spencer (4] Ml
epiaETsl A 3 :

) |WH 2 3 A
() Tt H 4) Mm@

40
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127."Mind is ghost in machine' — is related to :

(1] Ryle 4] Moore

(3) Carnap {4) Quine

AT I A g R- wefam o

(1) e 2) =€

(3) =Y (4] =
128.The theory of justice as fairness’ 15 namely related to 7

(1} Rowls [2) Russe]

(3] Ryle (4] Ross

*ﬁwmm’mfﬂaﬁﬁama:ﬁmﬁmaﬁw%?

(1) &g 7 2) o= |

1) TEE (4) g @

129, Who has made Copernicus Revolution in Philosophy ?
(1] Locke

(2] Bacon
(3] Hume (4) Kant
= F Freree mif e o & 7
(1) % (2) AT
(3) ®oH (4) =

130. Highest good for
{1} Naturalism
(3] Hedonism

highest numbers’ is related to -
(2} Ulmtﬂ.l'jﬂ-l'll'sm
(4} Intutionism

'ﬂﬁmﬂfﬁﬁﬁrﬂﬂﬁfﬁmﬂw—mg;

(1) i & 2) SvdfiEEr §
(3 g & ) srmTr g
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131. As per Plato, which one is more significant virtues ?

[t} Courage [2) Tempcrance
(3] Justice (4] Wisdom
Gel & ST, A o o FeET WL ¥ 7
(1} Hied (2) wad
(3] A (4 foEw
132.Which one is not a kind of Hetu as per Buddhist Logicians 7
{11 Swvabhiva [2) Karya
(%] Anuplabdhi (4] Upalabdh
e wE A e & orgE Bg o wwR T 8
L) e (2]

(3) ST (4) Tu=Are

133.'Arhat’ strives for the liberation of :

(1) Own sell (2) All monks |
{3} Al creatures (4) Al human beings
‘. g 2 Bru mard BTl ©
1) @ R (2) Torega &
) ofrE & R |4) W= A= ® R
g1 » i Mahdyana Buddhism 7
4 pumber of Parmitas s famous In !

134.:‘;_:”’3;; 2l @3} Five (4) Four
Tmﬁmﬁﬂﬁa—ﬁﬁwwﬁquﬂﬁm%;ﬁ
) =@ (2) ©% (3 = 4

& \Which «ysiem of Philosophy admits the 'Prapyalkdritva’ of sense -
135. Wimnelt =
apoans ! y
L 1sm [2) Nydy
14 B‘m:m (4) Neither both
(3] Bot

42



16P/236/4

®I - A g wEE I & Uit ¢ ST e s B o7
(1) @ =l (2) = =
(3) ==t (4) S E

136. Which one is not correct for Nyaya Philosophy ?
(1) Sixteen categories
(2] Four means of Valid knowledge
(3) Paratah Pramanya
(4) Swasamvedan

Eﬁﬁ-ﬂﬁﬂﬁﬂh%ﬁﬂﬂﬁﬁ.ﬁ?

(1) wr=ergeTef (2) =T gHEM

(3) O g (4) TEEHTE
137.Which one is not correct for Berkeley's idealism 7

(1] Essi Est Percipi (2) Abstract Idea

(3) Geod {4} Empricism

ﬁ%%m%%ﬂﬂﬁﬁ-m%mq‘ﬁ%:

(1) o gogar & (2) oF oy

(3) FoaT (4) SFHgERE
138. Which one is not correct for Gandhian Philosophy 2

(1) Batyagrah (2] Sarvaodaya

(3] God iz truth (4) Ahimsa

i T F R @ TF |t 9df § 7

(1) #eame (2) TEREgm

(3) @Y ud B (4] arfEmr

139."Man is born free however, he is every were in chains’ this statement
is given by :

(1} Hobes (2) Rosseay
(3) Maclver (4] Locke
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S T W aer €, e oft 9 avs wiEs 8 @ g e
e 8 7

(1) E1=H o) =6
13) HEERET ) T

140. Which one is not related to Marxism ?

{1) Dialectical materialism {2) Class struggle

{2) Surplus value [4) Doctrine of Trusteeship

Fr-mr o wedar ® o gd T € 7

(1) B-aEE diaeas (2) &7 wHad

(3) walE g. 14) =ra s
141. Which one is not correctly matched ?

(1] John Dewy - pragmatic Humanism

(2] M. N. Roy — Radical Humanism

(3] J. L. Nehru _ Scientific Humanism

(4] N. K. Devaraj — Theo - Centric Humanism

Fi-61 ok gAreE @ TE 8 7

(1) =i 2 O i R G

ot ouA, T - e W
(3] arEt a e - e e
@ T &, dage - el -afgE ArEEs

Bk : . "
42.“Truth is Man - made’ is the basic idea of which Philosophy ?
o 2] Feminism

11 Pragmatism .
. (4) Humanism

|3) Ma rXiSIT
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W gEN MR ¥ - aw B asie o smeroe g ® 2

(1) aTeifEramETs (2) AT
(3) W (4) AFEaE

143.The book ' Subjection of Wamen' is written by whom ?
(1) Mill (2) Sartre
[3] Simone De Beauvair |4) Dorothy Parkar
’Hﬁiﬁiﬁaﬂtﬁaﬁ?’mgﬁfﬁﬁaﬂﬁimﬁﬁrﬁ%?
(1) e (2) =
(3 d@mm & gar (4) el qremy

144. Which one 1s not related to the ‘Social contract theory' 2
(1) Hobes (2) Leocke
(3] Rosseau {4) Maclver
ﬁﬁ—m%'mﬁmmﬁmm’%mﬁqﬁﬂﬂ%?
{1) ®i=g (2] <=
(3) ==Y C4) FwmEe

145.Who has accepted that Jijgns ie an adventitiags quality of Soul
(1] Kumaril (2]  Charvals
(3] Nyaya ) Riminuja
ﬁmﬁﬁmwﬁﬁw%ﬁamﬂwwmyﬁ;
(1) R (2) ==
(3] =g (4 LIS

145.{2::??}1-&::3 introduced the ontological argument gy, the existence of
(1) Anselm (2} Augustine
3] Aquinas (4] Descartes

45
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TR d9a7 & aftam & WEUEE gUT a7 qeen untem fEnoar ?

)« ) A
(3] oA (4] I

147.In Whichl standard form of categorical proposition both the subject
and predicate ferms are distributed ?

1) A (2) E (3) 1 (4] ©
i W ST 8 e deaEy | ggseg ud 9T @1 0 e

B R 7

(if « (2) ¥ [3) g (4)
148, How many standard form of categorical propositions are there ?

(1) Five (2) Six

(4] Three {4} Four

FTYe aFaeg & fea AEE e B B 7

Iy At {2} BE

(3) [4) =T
148, What is the form of categorical syllogism ?

(1) Mood (2) Figure

3} Both [4) MNone of these

Preder JERTAE ST 4 e R

(2) T

i1} AT =]
[HJM H]E‘*’Iﬂﬁﬂfﬂﬁ

is aplicable to which of the following ?
(2) Paratah Prakisha
(4] All the three

150. The fallacy of infinite regress
1) Paratah Pramanya
() Anuvyavasaya

ﬁ ﬁ*H?WHW‘ﬂH ﬁﬂ!q{iﬂﬂ\ﬁﬁT% ?

AT , ,
] (2) G AT
W e syl adt
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ROUGH WORK
T el
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1,

L.

11

12
1L
14.

st & fau fdw
(7% QiFaa&T & REW JET0T g6F 7 qaT JAT-9F & g gl v
Fam Feh-FTet aT- @z 97 )

7 g e % 1o e & o 6 Sm A 5 e § i g e € o S
TYR T TR §1 Y S W W 90 S g e wel- T i ot g
T 1 GE{ gfeme w w=

T e H e e wdwr-w & e, foen @ W &Y 9 gen s 5
LRI

e p—— S——- i TRl fcr g s st Sl cL O
dEE IHT-GF & g Jegiad oy AT .
aﬂmwﬁmm-qﬁmmmw-qﬁmﬁqﬁﬁﬂmﬁmm%@
m—wﬁmwwh#maﬁmﬁaﬁ?mﬂﬁfﬁﬂﬁﬁ#?ﬁ#

et 5t ¥) Wl wal v g aw W9 GIEHT @ IS AT i @ T Sfw @
g7 ferd |

a1 o 3To GF UT H{HAE mmﬂ%ﬁ?ﬂﬂszﬂﬂﬁfﬂ?m
n:ﬁfgww:qmwfm-ah:ﬁaWHMaHMﬁmfmﬁ?ﬂ?ﬁ
T E
m%gﬁﬁﬁaafﬂmﬁa&wﬁﬁmmmﬁmmmmwwﬂh
qrerT &7 WEPT WA TR
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